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List 1 スト

10000 REM Calculation ofvapor-liquid equilibrium for aqu巳ousNaCl solution 
10050 REM Tanger and Pitzer (1989) 
10100 DEFDBLA-H， M-Z 
10150 DIM G(40)，II(40)，JJ(40)，BP(IO)，BQ(10) 
10200 DIM ATZ(4)，ADZ(4)，AAT(4)，AAD(4) 
10250 DIM COEF(IO，10)，BBC(10)，BC(IO) 
10300 DIM QR(11 )，QT(1 0)，QZR(9)，QZT(9)，V(1 0)，A(8)，C(18) 
10350 GOSUB *BLOCKDATA 
10400 H20= 18.01534:NACL=58.4428#:R=8.3144# 
10450 RHOC=.322#:VC=H20/RHOC/1 0 
10500 1NPUT"Input temperature (deg C)";TT 
10550 IF TTく250THEN GOTO 10500 
10600 T=TT十273.15#
10650 TTT=T 
10700 RT=R *T 

しミハ

10750 INPUT "Input mo1a1ity ofNaC1 in 1iquid phase";M 
1 0800 LPRINT USING"Temp巳ratur巳(degC)=+再再乱#岸#
10850 LPRINT 

molality ofNaCl=+##.#柑柑#";TT，M

10900 WLNACL=100*NACL*M/(1000+NACL*M) 
10950 REM Bischoff(1991) 
11000 S=23.637#十 057798*TT-.0002132*TT*TT十7.5213D-007*TT*TT*TT-5.355D-OI0*TT*TT*TT*TT

し3び〉
明、

」

11050 PBISCHOFF=41.749#ー1.2125#*TT+.0 136213*TT*TT-7 .52333D-005*TT*TT*TT +2. 19664D-007*TT*TT*TT*TT 
11100 PBISCHOFF=PBISCHOFF-2.82583D-Ol O*TT*TT*TT*TT*TT + 1.272310-013 *TT*TT*TT*TT*TT*TT 
11150 IF WLNACL<S THEN GOTO 11400 
11200 LPRINT "Supersaturated (or saturat巳d)with NaCl" 
11250 LPRINT USING"Pressure二十#.#再再#再再̂ 八̂八八 So1ubi1ity二十#弘再再#再再#";PBISCHOFF，1OOO*S/(1 OO-S)爪lACL
11300 LPRINT : LPRINT : LPRINT : LPRINT 
11350 GOTO 10500 
11400 XL=M/(M+ 1 000/H20) 
11450 YL=M*H2011 000 
11500 INPUT"Do you input initial estimates for DRL， DRV， and YV? 
11550 IF A$="N" ORA$="n" THEN GOTO 12000 
11600 INPUT"DRL";DRL:INPUT"DRV";DRV:INPUT"YV";YV 
11650 D ELD L= 1 D-006・DELDV=1D-006:DELY=1 D-006 
11700 MYULS=O:MYUVS=O:MYULWATER=O:MYUVWATER=O 
11750 REM Paramet巳rsofTanger and Pitz巳r

Input Y (or y) or N (n)";A$ 

11800 B 1 0=-29984.4#十19.0285*T十6.65541#*(1 OOOO/T)*(1 OOOO/T)*(1 OOOO/T) 
ー1.20069*1 000*(1 OOO/T)*(1 OOO/T)*(1 OOO/T)*(1 OOO/T)*(1 OOO/T) 
11850 B11=3928.3#ー10.5947*T-.60751 *(1 OOO/T)*(1 OOOOOO/T/T)*(1 OOOOOO/T/T)ペ1OOOOOO/T /T) 
*( 1 OOOOOO/T /T)*(1 OOOOOO/T /T)*(1 000000汀/T)
11900 B20=14121.9#-27.0731 *下257.142計(1OOO/T) * (1 OOOOOO/T /T) * (1 OOOOOO/T /T) *( 1 OOOOOO/T /T) 
11950 GOTO 14500 
12000 TC=647.096 
12050 IF TT=く350THEN GOTO 12150 
12100 TAU=I#-623.15#/TC:GOTO 12200 
12150 TAU=I#-T/TC 
12200 GOSUB *WPNACL 
12250 DRLO=DAQ*(1 #-WTL/1 OO)/RHOC:DRVO=DWATERV /RHOC 
12300 XV=1O-012:YV=XV/(I#十XV)
12350 DRL=O:DRV=O 
12400 DELDL=1 D-006:DELDV=1 D-006:DELY=1 D-006 
12450 MYULS=O:MYUVS=O:MYULWATER=O:MYUVWATER=O 
12500 REM Parameters ofTanger and Pit 
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12700 DRL=DRLO 
12750 DRV=DRVO 
12800 MYULS=RT*LOG(XL)十Vび((ー1#)*Bl O/DRL十Bll*(LOG(DRL)+ 1#IDRL))-2#切りYL*B20/DRL
12850 MYUVS=RT* LOG(YV)-RT* LOG(1 #+ YV)十VC*((-I#)*B10/DRV+B11 *(LOG(DRV)十1#/DRV))
-2#*VC*YV*B20/DRV 
12900 DIFMYUS=MYUVS-MYULS 
12950 DMYUSDY=RT/YV/(1 #+YV)-2#*VC*B20/DRV 
13000 IF ABS(DIFMYUS)く10-010THEN GOTO 13300 
13050 IF ABS(DIFMYUS/DMYUSDY)く10-021THEN GOTO 13300 
13100 YVDEC=DIFMYUS/DMYUSDY 
13150IFYVDECくYVTHEN GOTO 13250 
13200 YVDEC=YVDEC*.5#:GOTO 13150 
13250 YV=YV-YVDEC:GOTO 12850 
13300 XV=YV/(1#+YV) 
13350 X=O:PRES=O:PL=O:PV=O:PLD=O 
13400 RHOV=DRV*RHOC 
13450 X=RHOV 
13500 GOSUB *WATER 
13550 PV=PRES 
13600 PV=PV+YV*(B10十B11 *(DRV-1 #))十YV*YV*B20
13650 RHOL=DRL *RHOC 
13700 X=RHOL 
13750 GOSUB *WATER 
13800 PL=PRES 
13850 PL=PL十YL*(B10十B11*(DRL-1#))+YL*YL*B20 
13900 DIFPLV=PL-PV 
13950 RHOLD=(DRL十DELDL)*RHOC
14000 X=RHOLD 
14050 GOSUB *WATER 
14100 PLD=PRES 
14150 PLD=PLD十YL*(B10+B11*((DRL+DELDL)ー1#))十YL*YL*B20
14200 DPDDL=(PLD-PL)/DELDL 
14250 IF ABS(DIFPLV/DPDDL)<1O-010 THEN GOTO 14500 
14300 DRLDEC=DIFPLV/DPDDL 
14350 IF DRL>DRLDEC THEN GOTO 14450 
14400 DRLDEC=.5#*DRLDEC:GOTO 14350 
14450 DRL=DRL-DRLDEC:GOTO 13650 
14500 GOSUB *SOLUTION 
14550 LPRINT 
14600 DRL=BC(I):DRV=BC(2):YV=BC(3) 
14650 GOSUB *FUNC 
14700 RHOLIQUID=(H20+ YL *NACL)*RHOC*DRLlH20 
14750 RHOVAPOR=(H20十YV*NACL)*RHOC*DRV IH20 
14800 LPRINT USING"Pressure 1iquid二十#.#再再再再#̂八八八̂ vapor二十#.#再再#再再^̂^̂ "̂;PL，PV
14850 LPRINT USING"Density liquid=+#.######̂^̂ 八̂ vapor=十#.######̂^̂^̂";RHOLIQUID，RHOVAPOR
14900 LPRINT :LPRINT: LPRINT: LPRINT 
14950 GOTO 10500 
15000 *WPNACL 
15050 REM Densities of 1iquid and vapor under vapor-saturation 
15100 WLl =1.99274064:WL2=1.09965342:WL3=-.51 0839303:WL4=ー1.75493479#:WL5=-45.5170352
:WL6=ー674694.45#
15150 WV1 =-2.0315024: WV2=-2.6830294: WV3=-5.38626492#: WV  4=ー17.2991605:WV5=-44.7586581# 
:WV6=-63.9201063 
15200 DL=I#十WL1*EXP((1再/3#)*LOG(TAU))+WL2*EXP((2#/3#)*LOG(TAU))十WL3*EXP((5#/3#)*LOG(TAU))
十WL4*EXP((16#/3#)*LOG(TAU))+WL5*EXP((43#/3#)*LOG(TAU))十WL6*EXP((110/3#)*LOG(TAU))
15250 DL=RHOC*DL 
15300 DV=WV1 * EXP((2#/6#)*LOG(TAU))+WV2*EXP(( 4#/6#)*LOG(TAU))十WV3*EXP((8#/6#)*LOG(TAU))
十羽TV4 *EXP( (18#/6#)*LOG(TAU))十羽TV5*EXP((37#/6#)*LOG(TAU))+WV6*EXP((71#/6#)*LOG(TAU))
15350 DV=RHOC*EXP(DV):DWATERV=DV 
15400 BA 1 =-398.216#:BA2=82 

己完



22500 EPS=ID-005:IMAX=100:AL=I#:KK=3 
22550 DRLMAX=3.5#:DRLMIN=I.5#:DRVMAX=I#:DRVM1N=.02:YVMIN=ID-012 
22600 YVMAX=YL-.001 
22650 IF TT=<350 THEN GOTO 22850 
22700 1F TT>=540 THEN GOTO 22800 
22750 DRLMIN=.5#・DRVMAX=2#:GOTO22850 
22800 DRLM1N=.5#:DRVMAX=2.5# 
22850 LPRINT USING"Eps=+#.岸#̂八八八 "̂;EPS
22900 LPRINT USING"DRLMAX二十#.##

600'(; トリウム ノのう式i女平衡

DRLMIN二十#.再再 DRVMAX二十#.#再 DRVMIN二十#.##
YVMAX=+#.##̂ ^̂ ^̂  YVMIN=+#.##̂八八八̂"ラDRLMAX，DRLMIN，DRVl¥心生X，DRVMIN，YVMAX，YVMIN
22950 BC(1 )=DRL:BC(2)=DRV:BC(3)=YV 
23000 LPRINT"Initia1 estimate" 
23050 FOR 1=1 TO KK 
23100 LPRINT USING"BC(#)二十#.#再再#八八八̂^ ";I，BC(I); 
23150 NEXT 1 
23200 LPRINT 
23250 FOR 1=1 TO KK:BBC(1)=BC(1):NEXT 1 
23300 GOSUB *FUNC 
23350 LPRINT USING市lItia1FSUM二十#.柑柑柑̂ ^̂八八";FSUMI
23400 LPRINT 
23450 FSUM=FSUMI 
23500 ICON=KK:ITER=1 
23550 GOSUB *BCSOLV 
23600 LPRINT USING"ICON=## FSUM二十#柑柑柑八八八̂ ^ ITERATION=柑#";ICON，FSUM，ITER
236501TER=1TER+l:AL=I# 
23700 FOR J=1 TO KK:LPRINT US1NG"BC(#)=十#.#再再#八八八八̂ ";J，BC(J);:NEXT J:LPRINT 
23750 IF ITER>IMAX THEN ICON=ーl
23800 LPRINT 
23850 IF ICON>O THEN GOTO 23550 
23900 IF ICON=O THEN GOTO 24050 
23950 1F 1CON=ー1THEN GOTO 24000 
24000 LPRINT "Function improvement possib1e" 
24050 LPRINT "Solution" 
24100 FOR J=1 TO KK 
24150 LPRINT USING"BC(均二十#.#柑柑柑柑再̂ 川̂ "̂;J，BC(J)
24200NEXT J 
24250 RETURN 
24300 REM Subroutine BCSOLV 
24350サアルーチン(*BCSOLV)
27750サフ、ルーチン(*BLOCKDATA)
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List 2 

37000 *NACLAQ 
37050 MIREF=MREF 
37100 H=(H/FH)*(FFH(3)/FFH(1)) 
37150 S=(S/FH)*(FFH(3)/FFH(I)) 
37200 G=(G/FH)*(FFH(3)/FFH(I)) 
37250 CPW=CPO*GASCON*FH*FT 
37300 CPW=(CPW /FH)*(FFH(3)/FFH(I)) 

立には波j工

37350 S=S十SREF*RGAS: H二H十UREF*RGAS: G=G十UREF*RGAS-T*SREF*RGAS 
37400 TL=T-227# 
37450 TH=680-T 
37500 HFREF=LOG(1 #+ 1 ，2#*SQR(MIREF))/2#/1 2# 
37550 BMOV=ZPIT(19)十ZPIT(20)*2#*PRES十ZPIT(21)*3#*PRES*PRES 
37600 BMOV=BMOV十(ZPIT(24)十ZPIT(25)勺計PRES十ZPIT(26)*3#*PRES*PRES)*T
37650 BMOV=BMOV十(ZPIT(28)十ZPIT(29)*2#*PRES)*T*T
37700 BMOV=BMOV十(ZPIT(31)十ZPIT(32)*2肝PRES十ZPIT(33)勺計PRES*PRES)/TL 
37750 BMOV=BMOV十(ZPIT(35)十ZPIT(36)*2#*PRES十ZPIT(37)*3#*PRES*PRES)/TH
37800 CMV=ZPIT(44) 
37850 CMV=CMV十ZPIT(47)*T十ZPIT(49)*T*T
37900 CMV二 CMV十ZPIT(51)/TL十ZPIT(53)/TH
37950 CMV=CMV/2# 
38000 VNACL=RVGAS*(ZPIT(2)十2#*ZPIT(3)*PRES十3#*ZPIT( 4 )*PRES *PRES) 
38050 VNACL=VNACL十RVGAS*T*(ZPIT(6)十2#*ZPIT(7)* PRES+ 3#* ZPIT(8)* PRES * PRES) 
38100 VNACL=刊 ACL十RVGAS*T*T*(ZPIT(ll)十2#*ZPIT(12)*PRES)+RVGAS*T*T*T*ZPIT(14)
38150 VNACL=VNACL-YPPB*MW /00-2#* AV*HFREF -2#*RVGAS*T*MREF*BMOV 
-2#*RVGAS*T*MREF*MREF*CMV 
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38200 LPRINT 
38250 LPRINT USING"V(wat巳r)=+#乱再再再VNaCl=+#岸#.岸#";MWIDD，VNACL
38300 LPRINT 
38350 BMO=ZPIT(17)/T+ZPIT(18)+ZPIT(19)*PRES十ZPIT(20)*PRES*PRES十ZPIT(21)*PRES *PRES *PRES 
十ZPIT(22)*LOG(T)
38400 BMO=BMO十(ZPIT(23)十ZPIT(24)*PRES+ZPIT(25)*PRES*PRES+ZPIT(26)*PRES*PRES*PRES)*T
38450 BMO=BMO十(ZPIT(27)十ZPIT(28)*PRES+ZPIT(29)*PRES *PRES)*T*T 
38500 BMO=BMO十(ZPIT(30)十ZPIT(31)* PRES+ ZPIT(32)* PRES * PRES+ ZPIT(33)* PRES * PRES * PRES)/TL 
38550 BMO=BMO十(ZPIT(34)十ZPIT(35)*PRES+ZPIT(36)*PRES *PRES+ ZPIT(3 7)*PRES *PRES *PRES)/TH 
38600 BMl=ZPIT(38)/T十ZPIT(39)十ZPIT(40)*T十ZPIT(41)/TL
38650 CM=ZPIT(42)/T十ZPIT(43)十ZPIT(44)*PRES+ZPIT( 45)*LOG(T) 
38700 CM=CM十(ZPIT(46)十ZPIT(4 7)*PRES)*T +(ZPIT( 48)+ZPIT( 49)*PRES)*T*T 
38750 CM二 CM十(ZPIT(50)十ZPIT(51 )*PRES)/TL十(ZPIT(52)十ZPIT(53)*PRES)/TH
38800 BMOL=(-1 #)*ZPIT(I 7)/T/T+ZPIT(22)/T 
38850 BMOL=BMOL+(ZPIT(23)+ZPIT(24)*PRES十ZPIT(25)*PRES*PRES十ZPIT(26)*PRES*PRES*PRES)
38900 BMOL=BMOL+(ZPIT(27)+ZPIT(28)*PRES十ZPIT(29)*PRES*PRES)*2#*T
38950 BMOL=BMOL-(ZPIT(30)+ZPIT(31)*PRES十ZPIT(32)*PRES*PRES十ZPIT(33)*PRES*PRES*PRES)/TLlTL
39000 BMOL=BMOL+(ZPIT(34)+ZPIT(35)*PRES十ZPIT(36)*PRES*PRES十ZPIT(37)*PRES *PRES *PRES)/TH/TH 
39050 BMl L=(-1 #)*ZPIT(38)/T/T +ZPIT( 40)-ZPIT( 41 )/TLlTL 
39100 CML=(-1#)*ZPIT(42)/T/T十ZPIT(45)/T
39150 CML二 CML+(ZPIT(46)+ZPIT( 47)*PRES)十(ZPIT(48)十ZPIT(49)*PRES)*2#*T 
39200 CML二 CML-(ZPIT(50)十ZPIT(51 )*PRES)/TL/TL十(ZPIT(52)十ZPIT(53)*PRES)/TH/TH
39250 CML=CMLl2# 
39300 BMOJ=ZPIT(22)/T/T +2#*(ZPIT(23)十ZPIT(24)*PRES+ZPIT(25)*PRES*PRES+ZPIT(26)*PRES*PRES*PRES)/T
39350 BMOJ=BMOJ+6#*(ZPIT(27)十ZPIT(28)*PRES+ZPIT(29)*PRES*PRES)
39400 BMOJ=BMOJ+454#*(ZPIT(30)十ZPIT(31)*PRES+ZPIT(32)*PRES *PRES 
十ZPIT(33)*PRES*PRES*PRES)/TL/TL/TL/T
39450 BMOJ=BMOJ 
十1360*(ZPIT(34)+ZPIT(3 5)*PRES十ZPIT(36)*PRES*PRES十ZPIT(37)*PRES *PRES *PRES)/T /TH/TH/TH 
39500 BM1J=2計ZPIT(40)/T +454計ZPIT(4I)/T/TL/TL/TL
39550 CMJ=ZPIT(45)/2#/T/T十(ZPIT(46)十ZPIT(4 7)*PRES)/Tサ世(ZPIT(48)+ZPIT( 49)*PRES) 
39600 CMJ二 CMJ+227#*(ZPIT(50)十ZPIT(51 )*PRES)/T/TL/TL/TL 
39650 CMJ二 CMJ+680*(ZPIT(52)+ZPIT(53)*PRES)/T/TH/TH/TH
39700 EAIREF=EXP((-2#)*SQR(MIREF)) 
39750 GEXREF=(-8#)*APHI*HFREF十2#*MREF*BMO十(4#*BMI/4#)*(1#ー(1#十2#*SQR(MIREF))*EAIREF)
十MREF*MREF*CM
39800 GNACL=(ーl#)*YPPB
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415000SC=0 
41550 GM=O 
41600 OSC=I#-APHI*SQR(MI)/(I#+ 1.2#*SQR(MI)) 
41650 EA1=EXP((-2#)*SQR(M1)) 
41700 OSC=OSC十MOL*(BMO十BM1*EAI)十MOL*MOL*CM
41750 GM=(ー1#)* APHI*(SQR(MI)/(1 #十1.2#*SQR(MI))+4#*HF)
41800 GM1=1#ー(1#+2計 SQR(M1)-4#*M目的*EA1
41850 GM=GM十MOL*(2計BMO十(2計BM1 /4#/MI)*GM 1 )+(3計MOL*MOL/2#)*CM 
41900 GM=EXP(GM) 
41950BL=BMOL十2#*BMIL*(1#ー(1#+2#* SQR(M1))*EA1)/4#/M1 
42000 PHIL=2#* AH*HF-2#*RGAS*T*T*(MOL *BL+MOL *MOL *CML) 
42050 BJ=BMOJ十2#*BMIJ*(1#ー(1#+ 2#*SQR(M1))*EA1)/4#/M1 
42100 CPX=2#*HF* AJ-2#*MOL *RGAS*T*T*BJ-2#*MOL *MOL *RGAS*T*T*CMJ 
42150 BMX=BMO+2#*BM1 *(1#ー(1#+2#*SQR(MI))*EAI)/4#/MI
42200 GEX =( -8#)* APHI*HF*M1十2#*MOL*MOL *BMX十2#*MOL*MOL *MOL * (CM/2#) 
42250 GEX=GEX*RGAS*T 
42300 SX=(PHIL-GEX/MOL)/T 
42350 SSPEC=S*(1000IMW)+MOL *(SNACL +SX)十2#*MOL*RGAS*(I#ーLOG(MOL))
42400 SSPEC=SSPEC/(1000十MOL*NACL)
42450 HSPEC=H*(1 OOOIMW)+MOL *(HNACL十PHIL)
42500 HSPEC=HSPEC/(1 OOO+MOL *NACL) 
42550 CPSPEC=CPW*(1000/MW)十MOL*(CPNACL十CPX)
42600 CPSPEC=CPSPEC/(1 OOO+MOL *NACL) 
42650 LPRINT USING"m=#.##再再再 Oensity(g/cm3)二十#.#再#再#";MOL，OSOLN
42700 LPRINT USING" Osmotic coeff二十#.#再#";OSC
42750 LPRINT USING" Activity co巳ff=十#.###";GM
42800 LPRINT USING" Ex enth/RT二十##.###";PHIL/RGAS/T
42850 LPR1NT USING" Ex巳ntr/R=+##.#柑";SX/RGAS
42900 LPR1NT USING" Ex Cp/R 十###.##";CPX/RGAS
42950 LPRINT USING" Hspecific(J/g)二十##再#.#";HSPEC
43000 LPR1NT USING" Sspecific(J/g K)=+#.再再#";SSPEC
43050 LPRINT USING" Cpspecific(J/g K)二十#.#再#";CPSPEC
43100 LPRINT 
43150 RETURN 

List 3 ーチン脅PARAMETERS

33150 *PARAMETERS 
33200 FOR 1=1 TO 106・REAOZPITZ(I) : NEXT 1 
33250 REM Ov巳rallfit 
33300 OATA -71637.203#，2.2209012#，-7. 79913960-005，-4.80992720-009，624.68125# 
33350 OATA 6.01597870-004，3.40690740-007，2.19620440-011 ，-11 0.74702#，0.039494473# 
33400 OATA -6.53134750-007，-6.4 7818940-010，-1.58420120-005，3.24520060-009，516.99706# 
33450 OATA -5.9960301 0+006，-656.81518#，24.869130#，5.38127530-005，-5.58874700-008 
33500 OATA 6.58932630-012，-4.4640952#，0.0111 09914#，-2.65733990-007，1.74600700-010 
33550 OATA 1.04626190-014，-5.30701290-006，8.63402330-01 0，-4.17859620-0 13，-l.5793660# 
33600 OATA 2.2022821 0-003，-1.31 055030-007，-6.38136830-011 ，9.7065780#，-2.68603960-002 
33650 OATA 1.53447440-005，-3.21539830-009， 119.31966#，-0.48309327#， 1.40680950-003 
33700 OATA -4.2345814#，-6.1084589#，0.40217793#ユ29028370-005，-0.075354649#
33750 OATA 1.53176730-004，-9.0550901 0-008，-1.53860080-008，8.69266000-011 ，0.3531 0414# 
33800 OATA -4.33142520-004，-0.091871455#，5.19047770-004 
33850 REM Low-temperature fit 
33900 OATA -71659.53lt人2.3483335#，-8.36684840-005之.40181680-009，624.88208#
33950 OATA -5.36971190-004，3.51269660-007，0#，-11 0.74702#，0.038900801# 
34000 OATA 2.69734560-006，-6.27468760-010，ー1.52676120-005，0#，516.99706#
34050 OATA -5.9960301 0+006，-656.81518#，24.879183#，-2.1552731 0-005，5.01668550-008 
34100 OATA 0#，-4.4640952#，0.011087099#，-6.44 797610-008，-2.32340320-010 
34150 OATA 0#，-5.21948710-006，2.444521 00-01 0，2.85270660-013，-1.5696231 # 
34200 OATA 2.23378640-003，-6.39338910-007，4.52705730-011，5.4151933#，0# 
34250 OATA 0#，0#，119.31966#，-0.48309327#，1.40680950-003 
34300 OATA -4.2345814#，-6.1 084589#，0.40743803#，-6.81524300-006，-0.075354649# 
34350 OATA 1.26090 140-004，6.24806920-008， 1.89943730-008，-1.07312840-0 1 0，0.32136572# 
34400 OATA -2.53829450-004，0#，0# 
34450 RVGAS=83.144#: RGAS=8.3144#: MW=18.01534 
34500 FOR 1=1 TO 9: REAO OU(1) : NEXT 1 
34550 OATA 3.42790十002，-5.08660-003，9.46900-007，-2.0525#，3.11590十003
34600 OATA -1.82890+002，-8.03250+003，4.21420十006，2.1417#
34650 EE=4.8032420-010 : BC=1.3806620-016 
34700 NACL=58.4428#・MREF=5.550825: YPPB=10 
34750 RETURN 
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List 4 チン会BL時CKDATA

30200キBLOCKOATA
30250 FOR 1=1 TO 4:REAO ATZ(I):NEXT 1 
30300 OATA 640#ラ640札641.6#ラ270#
30350 FOR 1=1 TO 4:REAO AOZ(1):NEXT 1 
304000ATAO.319#ラ0.319#ラ0.319#，1.55#
30450 FOR 1=1 TO 4:REAO AAT(I):NEXT 1 
30500 OATA 2.0004ヱ.0004，4.0004，25.0#
30550 FOR 1=1 TO 4:REAO AAO(I):NEXT 1 
30600 OATA 34.0#，40.0#，30.0#，1.050+003 
30650 WM=18.01534 : GASCON=.461518#: TZ=647.073 : AA=I#: 1NC=36 
30700 UREF=-4328.455039:SREF=7.6180802 
30750 ALPHA=11 #:BETA=44.333333333333#:GA恥f恥1A=3.5#
30800 FOR 1=1 TO 10:REAO BP(I):NEXT 1 
30850 OATA 0.7478629#，-0.3540782#，0.0#ラ0.0#，0.007159876#ラ0.0#，-0.003528426#，0.0#，0.0#ラ0.0#
30900 FOR 1=1 TO 10:REAO BQ(I):NEXT 1 
30950 OATA 1.1278334#，0.0#，-0.5944001#，-5.010996#，0.0#，0.63684256#，0.0#，0.0#，0.0#，0.0# 
31000 FOR 1=1 TO 40:REAO MG(I):NEXT 1 
31050 OATA -5.30629685290230+002，2.27449014244080+003，7.87793330206870+002 
31100 OATA -6.98305273749940+001，1.78638328754220+004，-3.95147315633380+004 
31150 OATA 3.38038842807530+004，-1.38550502027030+004，-2.563 74366132600+005 
31200 OATA 4.82125759814150+005，-3.41830169696600+005， 1.22231564174480+005 
31250 OATA 1.17974336558320+006，-2.17348101103 730+006，1.08299521686200+006 
31300 OATA -2.54419980640490+005，-3.13777749477670+006，5.29119107577040+006 
31350 OATA -1.38025771778770+006，-2.51 09914369001 0+005，4.65618261156080+006 
31400 OATA -7.27527732753870+006，4.17742461482940+005，1.40163582446140+006 
31450 OATA -3.15552313921270+006，4. 79296663845840+006，4.09126647812090+005 
31500 OATA -1.36263693883860+006ラ6.96252208626640+005，ー1.08349000964470+006
31550 OATA -2.272282740 16880+005，3.83654860006600+005，6.88332579443320+003 
31600 OATA 2.17572455226440+004，-2.66279448297700+003，-7.07304180820740+004 
31650 OATA -0.225#，-1.68#，0.055#，-93.0# 
31700 FOR 1=1 TO 40:REAO II(1):NEXT 1 
31750 OATA 0，0，0，0，1，1，1，1ヱヱヱヱラ3，3，3，3，4，4，4，4，5，5，5，5，6，6，6，6，8，8，8，8，2，2，0，4ヱヱヱラ4
31800 FOR 1=1 TO 40・REAOJJ(I):NEXT 1 
31850 OATA 2，3，5，7，2，3，5，7，2，3，5，7，2，3，5，7ヱラ3，5，7ヱラ3，5，7，2，3，5，7，2，3，5，7，1，4，4，4，0，2，0，0
31900 FOR 1=1 TO 8:REAOA(I):NEXT 1 
319500ATA-7.8889166#ユ5514255#，-6.716169#ラ33.239495#
32000 OATA -105.38479#，174.35319#，-148.39348#，48.631602# 
32050 FOR 1=1 TO 18:REAO C(1):NEXT 1 
32100 OATA 1.9730271 0180+001 ，2.096626819770+001，-4.834294553550-001 ，6.057431892450+000 
32150 OATA 2.2560238850 
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